

基底 $\{ \text{I} \} \quad \vec{a}, \vec{e}, \vec{c}, \dots \in \mathbb{K}^2$

$$(\vec{a} \ \vec{e}) \begin{pmatrix} x \\ y \end{pmatrix} = x \vec{a} + y \vec{e}$$

$$(\vec{a} \ \vec{e} \ \vec{c}) \begin{pmatrix} x \\ y \\ z \end{pmatrix} = x \vec{a} + y \vec{e} + z \vec{c}$$

⋮

$\{ \text{II} \} \quad A (\vec{x} \ \vec{y}) = (A \vec{x} \ A \vec{y})$

$$A (\vec{x} \ \vec{y} \ \vec{z}) = (A \vec{x} \ A \vec{y} \ A \vec{z})$$

⋮

基底 $\{ 1, 2, 3, \dots \} \in \mathbb{K}^n$

(1)

$$A \text{ "234" } \vec{x}, \vec{y}, \vec{z} \in \mathbb{K}^2$$

$$A \text{ "331" } \quad \quad \quad \in \mathbb{K}^3$$

⋮

(1) $\vec{a} = \begin{pmatrix} a_1 \\ a_2 \end{pmatrix}, \vec{e} = \begin{pmatrix} e_1 \\ e_2 \end{pmatrix}, \vec{c} = \begin{pmatrix} c_1 \\ c_2 \end{pmatrix}, \vec{\beta} = \begin{pmatrix} \beta_1 \\ \beta_2 \end{pmatrix}$

$$\begin{cases} a_1 x + e_1 y = \beta_1 \\ a_2 x + e_2 y = \beta_2 \end{cases} \iff x \vec{a} + y \vec{e} = \vec{\beta} \iff (\vec{a} \ \vec{e}) \begin{pmatrix} x \\ y \end{pmatrix} = \vec{\beta}$$

$$\begin{cases} a_1 x + e_1 y + c_1 z = \beta_1 \\ a_2 x + e_2 y + c_2 z = \beta_2 \end{cases} \iff x \vec{a} + y \vec{e} + z \vec{c} = \vec{\beta} \iff (\vec{a} \ \vec{e} \ \vec{c}) \begin{pmatrix} x \\ y \\ z \end{pmatrix} = \vec{\beta}$$

$$\textcircled{2} \quad \vec{a} = \begin{pmatrix} a_1 \\ a_2 \\ a_3 \end{pmatrix}, \quad \vec{e} = \begin{pmatrix} e_1 \\ e_2 \\ e_3 \end{pmatrix}, \quad \vec{c} = \begin{pmatrix} c_1 \\ c_2 \\ c_3 \end{pmatrix}, \quad \vec{\beta} = \begin{pmatrix} \beta_1 \\ \beta_2 \\ \beta_3 \end{pmatrix}$$

②

$$\begin{cases} a_1 x + e_1 y = \beta_1 \\ a_2 x + e_2 y = \beta_2 \\ a_3 x + e_3 y = \beta_3 \end{cases} \iff x \vec{a} + y \vec{e} = \vec{\beta} \iff (\vec{a} \ \vec{e}) \begin{pmatrix} x \\ y \end{pmatrix} = \vec{\beta}$$

$$\begin{cases} a_1 x + e_1 y + c_1 z = \beta_1 \\ a_2 x + e_2 y + c_2 z = \beta_2 \\ a_3 x + e_3 y + c_3 z = \beta_3 \end{cases} \iff x \vec{a} + y \vec{e} + z \vec{c} = \vec{\beta} \iff (\vec{a} \ \vec{e} \ \vec{c}) \begin{pmatrix} x \\ y \\ z \end{pmatrix} = \vec{\beta}$$

$$H: \mathbb{R}^3 \rightarrow \mathbb{R}^2$$

$$\begin{pmatrix} s \\ t \\ u \end{pmatrix} \mapsto s\vec{p} + t\vec{q} + u\vec{r} = (\vec{p} \ \vec{q} \ \vec{r}) \begin{pmatrix} s \\ t \\ u \end{pmatrix}$$

$\Sigma(\mathbb{R})^2$

$$(F \circ H) \begin{pmatrix} s \\ t \\ u \end{pmatrix} = \dots$$

$\Sigma \text{ ist } \mathbb{R}^2 \text{ ist } \mathbb{R}^2$